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2. Simplify:
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SOLVING PROPORTIONS. Solve the proportion. (Checking solutions ¢ ~18-2x=-10 | 12-3x=15
Ly 312 = B2 o = m
e p—
2 13 LZ’ 2o
- ’{«
e [=m
4. _» =at 7 i Pt - g 1t com) 5. 8 L o. u = 33
7 6 12 r+1 w w+2('\
yq o+ J 20 = GG+ 23w Al(w»/»t)
3 ¢ 12r = ¢4 % 33w =1ho & 24
a+¥) = -24 — =
_ Yr =% 22w = /‘L

Fa.= 343

3 .
o.="49

24 4

Sz+4 z-1

H(szao M(Z-1)

m+1 3m+ 6

U(3m +6)= FMmx 1)

-\UHK) = 5(!4—‘6) l

204 + (L= 242-2Y —4;—_'\2«* 1Zm 3N = Fmt+ T
z el Y =K-UO | S 424 = +
L :-‘; "t 23 =LK /_:,7',.._-'—%—‘
4o = ‘::355 = =12
1o ’T:tzz:g . -39 b+1 b ) g f
3 4 (b+\ -
030 s 2e | WA | [ )
18.87 ST - > Y|y '
q’:n 284 =6 7’\0':}% /b‘g___,__ "'3'30
?nsz/'l — %% 2b+Y
=y
1L SA:/
L_Lg l -5q= b






